## **Garland Independent**

## **School District**

**GISD Sourcing Bid Tab** 

Bid#:		31382	Title:	125-15
Quote#	Vendor / Supplier		EPCNT	Discount
455453	HENRY SCHEIN		no	15%
455384	MEDICAL WHOLESALE INC		Yes	10% off
455454	MOORE MEDICAL CORP		Yes	0.18
455450	NASHVILLE MEDICAL AND EI	MS	YES	40%
455437	PATTERSON MEDICAL SUPP	LY	Yes	0-18%
	INCORPORATED DBA MEDCO SPORTS MEDICINE	D		Pricing:
455435	SCHOOL NURSE SUPPLY INC	:	YES	9%
455463	UNIPAK CORP		Yes	Yes

		Award (Y					r	Extended		
Line#	Item Description	/ N)	Reason	UOM	Supplier	Qty	Price	Price	Min	Note
1	ALCOHOL 1 PT. ISOPROPYL 70%	У		BT	HENRY SCHEIN	100	1	100		
				вт	MOORE MEDICAL CORP	100	1.14	114		16 ounce
				ы	MOORE MEDICAL CORP	100	1.14	114		price is
										price is per each
				вт	MEDICAL WHOLESALE INC	100	1.32	132		pint
					PATTERSON MEDICAL SUPPLY					
					INCORPORATED DBA MEDCO					
				BT	SPORTS MEDICINE	100	1.39	139	1	
				вт	NASHVILLE MEDICAL AND EMS PRODUCTS INCORPORATED	100	1.55	155	100	
				ы	PRODUCTSINCORPORATED	100	1.55	100	100	
										ITEM
				вт	SCHOOL NURSE SUPPLY INC	100	1.62	162		#18070
				1	PATTERSON MEDICAL SUPPLY					
	BAGGIES (SANDWICH SIZE), 150				INCORPORATED DBA MEDCO					
2	BAGS, ZIPLOCK TOP, 6"X6"			вх	SPORTS MEDICINE	500	NB	0.005	1	no bid
					NASHVILLE MEDICAL AND EMS					
		Y		вх	PRODUCTS INCORPORATED	500	4.5	2250	100	
3	CLIPS, 3"X5 YD, ELASTIC, SEAMLESS KNIT	Y		F۵	MOORE MEDICAL CORP	100	0.27	27		
5					PATTERSON MEDICAL SUPPLY	100	0.21	21		
					INCORPORATED DBA MEDCO					
				EA	SPORTS MEDICINE	100	0.35	35	1	3 x 4.5
					NASHVILLE MEDICAL AND EMS					
				EA	PRODUCTS INCORPORATED	100	0.37	37	100	
										price is
				<b>F</b> •		100	0.57	E7		per each
				EA	MEDICAL WHOLESALE INC	100	0.57	57		bandage
				1						ITEM
				EA	SCHOOL NURSE SUPPLY INC	100	0.59	59		#15211
				1						
										sold as
				EA	HENRY SCHEIN	100	2.69	269		10/box
	BANDAGE KNUCKLE, FLEXIBLE									
4	FABRIC, 1 1/2" X 3", 100/BX	Y		вх	HENRY SCHEIN	100	2.17	217		
				БV	NASHVILLE MEDICAL AND EMS	100	2.99	299	100	
		1		ВХ	PRODUCTS INCORPORATED	100	2.99	299	100	

FAB	Item Description	/ N)	Reason	BX BX BX	Supplier PATTERSON MEDICAL SUPPLY INCORPORATED DBA MEDCO SPORTS MEDICINE MOORE MEDICAL CORP MEDICAL WHOLESALE INC SCHOOL NURSE SUPPLY INC	Qty 100 100 100	Price           3.24           3.66           4.05           4.15	Price 324 366 405 415	Min 1	Note price is per box of 100
FAB	RIC W/2 PINS, 37"X37"X52",	Y		BX BX BX	INCORPORATED DBA MEDCO SPORTS MEDICINE MOORE MEDICAL CORP MEDICAL WHOLESALE INC	100 100	3.66 4.05	366 405	1	per box of 100 ITEM
FAB	RIC W/2 PINS, 37"X37"X52",	Y		BX BX BX	MOORE MEDICAL CORP MEDICAL WHOLESALE INC	100 100	3.66 4.05	366 405	1	per box of 100 ITEM
FAB	RIC W/2 PINS, 37"X37"X52",	Y		BX BX	MEDICAL WHOLESALE INC	100	4.05	405		per box of 100 ITEM
FAB	RIC W/2 PINS, 37"X37"X52",	Y		BX BX	MEDICAL WHOLESALE INC	100	4.05	405		per box of 100 ITEM
FAB	RIC W/2 PINS, 37"X37"X52",	Y		вх						per box of 100 ITEM
FAB	RIC W/2 PINS, 37"X37"X52",	Y		вх						100 ITEM
FAB	RIC W/2 PINS, 37"X37"X52",	Y				100	4.15	415		
FAB	RIC W/2 PINS, 37"X37"X52",	Y			SCHOOL NURSE SUPPLY INC	100	4.15	415		
FAB	RIC W/2 PINS, 37"X37"X52",	Y		EA						#5300
		Y		EA						
					MOORE MEDICAL CORP	100	0.22	22		
				1						
				EA	NASHVILLE MEDICAL AND EMS PRODUCTS INCORPORATED	100	0.27	27	100	
				LA	FRODUCTSINCORPORATED	100	0.27	21	100	price is
										per each
				EA	MEDICAL WHOLESALE INC	100	0.59	59		triangular bandage
				EA	SCHOOL NURSE SUPPLY INC	100	0.6	60		ITEM #26100
				1	PATTERSON MEDICAL SUPPLY					
				F۵	INCORPORATED DBA MEDCO SPORTS MEDICINE	100	0.79	79	1	
						100	0.75	19		
	D AID, EXTRA LARGE FABRIC				NASHVILLE MEDICAL AND EMS	-				
6 PATC	СН, 2" Х 3"	Y		BX	PRODUCTS INCORPORATED PATTERSON MEDICAL SUPPLY	50	2.39	119.5	100	
					INCORPORATED DBA MEDCO					
				BX	SPORTS MEDICINE	50	3.05	152.5	1	
				вх	MOORE MEDICAL CORP	50	3.09	154.5		
										price is per box of
				вх	MEDICAL WHOLESALE INC	50	3.83	191.5		50
				вх	HENRY SCHEIN	50	5.01	250.5		
				вх	SCHOOL NURSE SUPPLY INC	50	7.55	377.5		ITEM #8342
7 100/E	D-AID, FABRIC, 1" WIDE,	Y		вv	NASHVILLE MEDICAL AND EMS PRODUCTS INCORPORATED	2200	1.11	2442	100	
/ 100/L		1		DA.	PRODUCTSINCORPORATED	2200	1.11	2442	100	
				BX	HENRY SCHEIN	2200	1.33	2926		
										ITEM
				BX	SCHOOL NURSE SUPPLY INC	2200	1.99	4378		#5115
					PATTERSON MEDICAL SUPPLY INCORPORATED DBA MEDCO					
				вх	SPORTS MEDICINE	2200	2.13	4686	1	
				вх	MOORE MEDICAL CORP	2200	2.2	4840		ļ
										price is
				вх	MEDICAL WHOLESALE INC	2200	3.15	6930		per box of 100
	M PAPER ROLL, SMOOTH, 18"									
	0', SCHOOL HEALTH #A21-160 EQUAL	Y		RL	MOORE MEDICAL CORP	200	2.05	410		
					PATTERSON MEDICAL SUPPLY					
				RL	INCORPORATED DBA MEDCO SPORTS MEDICINE	200	2.5	500	1	

		Award (Y						Extended		
Line#	Item Description	/ N)	Reason	UOM	Supplier	Qty	Price	Price	Min	Note
					NASHVILLE MEDICAL AND EMS					
				RL	PRODUCTS INCORPORATED	200	2.79	558	100	
										ITEM
				RL	SCHOOL NURSE SUPPLY INC	200	3.04	608		#31560
										18"x225', 12rolls
				RL	HENRY SCHEIN	200	23.77	4754		case
	CLOSURE, BUTTERFLY, MEDIUM,				PATTERSON MEDICAL SUPPLY INCORPORATED DBA MEDCO					
9	100/BX	Y		вх	SPORTS MEDICINE	20	1.71	34.2	1	
					NASHVILLE MEDICAL AND EMS					
				вх	PRODUCTS INCORPORATED	20	1.99	39.8	100	
				вх	MOORE MEDICAL CORP	20	2.16	43.2		
										price is per box of
				вх	MEDICAL WHOLESALE INC	20	2.25	45		100
				вх	HENRY SCHEIN	20	3.07	61.4		
										ITEM
				вх	SCHOOL NURSE SUPPLY INC	20	3.5	70		#5200
					PATTERSON MEDICAL SUPPLY INCORPORATED DBA MEDCO					6oz calamine
10	CALAMINE LOTION, 4 OZ	Y		вт	SPORTS MEDICINE	200	1.22	244	1	lotion
										price is
				вт	MEDICAL WHOLESALE INC	200	1.42	284		per each 6oz bottle
				вт	SCHOOL NURSE SUPPLY INC	200	1.71	342		#18200-6 oz. bottle
				вт	NASHVILLE MEDICAL AND EMS PRODUCTS INCORPORATED	200	1.89	378	100	
				вт	HENRY SCHEIN	200	3.71	742		6oz
					PATTERSON MEDICAL SUPPLY					
11	CAMPHO-PHENIQUE, LIQUID, 3/4 OZ	Y		вт	INCORPORATED DBA MEDCO SPORTS MEDICINE	200	3.4	680	1	
				вт	NASHVILLE MEDICAL AND EMS PRODUCTS INCORPORATED	200	10	2000	100	
							-			
12	COTTON BALLS, NON-STERILE, 500/BX	Y		вх	MOORE MEDICAL CORP	60	1.53	91.8		
. 2					PATTERSON MEDICAL SUPPLY		1.00	0.110		
				BX	INCORPORATED DBA MEDCO SPORTS MEDICINE	60	1.63	97.8	1	
								0.10		
				вх	HENRY SCHEIN	60	1.91	114.6		
				RY	SCHOOL NURSE SUPPLY INC	60	2.58	154.8		ITEM #14144
			<u> </u>	5.		50	2.30	134.0		# 14 1 44
				BY	NASHVILLE MEDICAL AND EMS	60	2.00	170 4	400	
				BX	PRODUCTS INCORPORATED	60	2.99	179.4	100	price is
								445.5		per bag of
	CUP, PLASTIC, NON-STERILE,			вх	MEDICAL WHOLESALE INC	60	6.93	415.8		500
	MEDICINE GRADUATED TO 10Z,				NASHVILLE MEDICAL AND EMS					
13	100/TUBE	Y		ΤU	PRODUCTS INCORPORATED	100	0.69	69	100	

Line#	Item Description	Award (Y / N)	Reason	υом	Supplier	Qty	Price	Extended Price	Min	Note
					PATTERSON MEDICAL SUPPLY INCORPORATED DBA MEDCO					
				τu	SPORTS MEDICINE	100	0.75	75	1	
										100/packa
				TU	MOORE MEDICAL CORP	100	0.75	75		ge
						400				
				TU	HENRY SCHEIN	100	0.94	94		
				τυ	SCHOOL NURSE SUPPLY INC	100	1.22	122		ITEM #22901
14	APPLICATOR COTTON TIP, NON- STERILE, 6", SINGLE END, 1000/BX	Y		вх	NASHVILLE MEDICAL AND EMS PRODUCTS INCORPORATED	50	3.29	164.5	100	
					PATTERSON MEDICAL SUPPLY INCORPORATED DBA MEDCO					
				вх	SPORTS MEDICINE	50	3.43	171.5	1	
				вх	MOORE MEDICAL CORP	50	3.82	191		Box 1000
				вх	HENRY SCHEIN	50	4.4	220		
										ITEM
				BX	SCHOOL NURSE SUPPLY INC	50	4.78	239		#14110 price is
				BY	MEDICAL WHOLESALE INC	50	5.34	267		per bag of 1000
					MEDICAL WHOLESALE INC	50	5.54	207		1000
15	CUPS, PAPER, 3 OUNCE	Y		РК	MOORE MEDICAL CORP	200	2.91	582		100/Packa ge
				РК	NASHVILLE MEDICAL AND EMS PRODUCTS INCORPORATED	200	2.99	598	100	
					PATTERSON MEDICAL SUPPLY					price per
				РК	SPORTS MEDICINE	200	3.01	602	1	100/slv
										ITEM
				PK	SCHOOL NURSE SUPPLY INC	200	3.4	680		#22044
	EAR SPECULAR, DISPOSABLE,			PK	HENRY SCHEIN	200	4.44	888		
	2.75MM 34/TUBE, FOR WELCH ALLYN HALOGEN, SCHOOL				PATTERSON MEDICAL SUPPLY INCORPORATED DBA MEDCO					
16	HEALTH #Q53-021 OR EQUAL	Y		TU	SPORTS MEDICINE	10	1.06	10.6	1	
										ITEM
				τu	SCHOOL NURSE SUPPLY INC	10	1.39	13.9		#32120
				<b>T</b> 11	NASHVILLE MEDICAL AND EMS	10	5	50	50	
	EAR SPECULAR, DISPOSABLE,			10	PRODUCTS INCORPORATED	10	5	50	50	
	4.25MM 34/TUBE, FOR WELCH ALLYN HALOGEN, SCHOOL				PATTERSON MEDICAL SUPPLY INCORPORATED DBA MEDCO					
17	HEALTH #Q53-022 OR EQUAL	Y		TU	SPORTS MEDICINE	40	1.06	42.4	1	
				τυ		40	1.39	55.6		ITEM #32125
				10	SCHOOL NURSE SUPPLY INC	40	1.39	55.0		πJ212J
				ти	NASHVILLE MEDICAL AND EMS PRODUCTS INCORPORATED	40	5	200	100	
	GAUZE ROLL, NON-STERILE						Ŭ			
18	CONFORMING BANDAGE, 2"X 5 YD, KLING #6922 OR EQUAL	Y		RL	NASHVILLE MEDICAL AND EMS PRODUCTS INCORPORATED	600	0.09	54	50	
										12/pk,
				RL	HENRY SCHEIN	600	2	1200		rolled gauze

Line#       Item Description       / N)       Reason       UOM       Supplier       Qty       Price       Price         PAD       AUZE; 4"X4"X2 PLY, NON- 19       PAD       AUZE; 4"X4"X2 PLY, NON- Y       Y       BX       MOORE MEDICAL CORP       50       2.8       140         19       STERILE; 200/BX       Y       BX       MOORE MEDICAL CORP       50       2.82       141         19       STERILE; 200/BX       Y       BX       MOORE MEDICAL CORP       50       2.82       141         19       STERILE; 200/BX       Y       BX       MOORE MEDICAL CORP       50       2.82       141         19       STERILE; 200/BX       Y       BX       MOORE MEDICAL AND EMS SPORTS MEDICINE       50       2.82       141         10       BX       SPORTS MEDICINE       50       3.19       159.5         10       BX       BX       SCHOOL NURSE SUPPLY INC       50       4.47       223.5         10       PAD TELFA GAUZE; 3"X4"; INDIVIDUALLY WRAPPED; 20       Y       BX       NASHVILLE MEDICAL AND EMS PRODUCTS INCORPORATED       10       4.99       49.9         20       STERILE; 100/BX       Y       BX       PATTERSON MEDICAL CORP       10       5.28       52.8	Min Note price pe 12 12 12 200 1 4ply 100 1 4ply 100 11 12 ply 40 40 1 1 1 8ox 50 price is per box 100
Image: space spac	12 12 12 12 12 ply B 200 1 4ply 100 ITEM #16750 12 ply 40 1 Box 50 price is per box
19     PAD GAUZE, 4"X4"X2 PLY, NON- STERILE, 200/BX     y     BX     MOORE MEDICAL CORP     50     2.8     140       19     STERILE, 200/BX     PATTERSON MEDICAL SUPPLY INCORPORATED DBA MEDCO BX     SPORTS MEDICINE     50     2.82     141       10     BX     SPORTS MEDICINE     50     2.82     141       10     BX     SPORTS MEDICINE     50     2.82     141       11     BX     NASHVILLE MEDICAL AND EMS BX     50     3.19     159.5       10     BX     SCHOOL NURSE SUPPLY INC     50     4.25     212.5       11     BX     SCHOOL NURSE SUPPLY INC     50     4.47     223.5       11     BX     HENRY SCHEIN     50     4.47     223.5       12     BX     HENRY SCHEIN     50     4.47     223.5       10     STERILE, 100/BX     Y     BX     PRODUCTS INCORPORATED     10     4.99     49.9       20     STERILE, 100/BX     Y     BX     PATTERSON MEDICAL SUPPLY INCORPORATED DBA MEDCO BX     SPORTS MEDICINE     10     5.28     52.8       10     BX     MOORE MEDICAL CORP     10     6.69     66.9       10     BX     MEDICAL WHOLESALE INC     10     6.98     69.8       10     BX <td>12 ply B 200 1 4ply 100 ITEM #16750 12 ply 40 1 Box 50 price is per box</td>	12 ply B 200 1 4ply 100 ITEM #16750 12 ply 40 1 Box 50 price is per box
19         STERILE, 200/BX         Y         BX         MOORE MEDICAL CORP         50         2.8         140           PATTERSON MEDICAL SUPPLY INCORPORATED DBA MEDICO BX         PATTERSON MEDICAL SUPPLY INCORPORATED DBA MEDICO BX         50         2.82         141           SPORTS MEDICINE         50         2.82         141           BX         NASHVILLE MEDICAL AND EMS BX         50         3.19         159.5           BX         PRODUCTS INCORPORATED         50         4.47         223.5           BX         PAD TELFA GAUZE, 3"X4", INDIVIDUALLY WRAPPED, 20         Y         BX         PRODUCTS INCORPORATED         10         4.99         49.9           20         STERILE, 100/BX         Y         BX         PRODUCTS INCORPORATED         10         4.99         49.9           20         STERILE, 100/BX         Y         BX         PRODUCTS INCORPORATED         10         5.28         52.8           BX         PADTELFA GAUZE, 3"X4", INDOROBAL         Y         BX         PRODUCTS INCORPORATED         10         5.28         52.8           BX         PATTERSON MEDICAL SUPPLY INCORPORATED DBA MEDCO         10         5.28         52.8           BX         MOORE MEDICAL CORP         10         6.69         66.9	200 1 4ply 100 ITEM #16750 12 ply 40 1 Box 50 price is per box
PATTERSON MEDICAL SUPPLY INCORPORATED DBA MEDCO BX       50       2.82       141         BX       SPORTS MEDICINE       50       2.82       141         BX       SPORTS MEDICINE       50       2.82       141         BX       SPORTS MEDICINE       50       3.19       159.5         BX       NASHVILLE MEDICAL AND EMS PRODUCTS INCORPORATED       50       4.25       212.5         BX       SCHOOL NURSE SUPPLY INC       50       4.47       223.5         PAD TELFA GAUZE, 3"X4", INDIVIDUALLY WRAPPED, STERILE, 100/BX       Y       BX       NASHVILLE MEDICAL AND EMS PRODUCTS INCORPORATED       10       4.99       49.9         20       STERILE, 100/BX       Y       BX       NASHVILLE MEDICAL SUPPLY INCORPORATED DBA MEDICAL SUPPLY INCORPORATED DBA MEDICO BX       10       5.28       52.8         BX       MOORE MEDICAL CORP       10       6.69       66.9         BX       MOORE MEDICAL CORP       10       6.98       69.8         BX       MEDICAL WHOLESALE INC       10       6.98       69.8         BX       SCHOOL NURSE SUPPLY INC       10       8.25       82.5	200 1 4ply 100 ITEM #16750 12 ply 40 1 Box 50 price is per box
BX     INCORPORATED DBA MEDICO SPORTS MEDICINE     50     2.82     141       Image: Sports Medicine     50     2.82     141       Image: Sports Medicine     50     3.19     159.5       Image: Sports Medicine     50     3.19     159.5       Image: Sports Medicine     50     4.25     212.5       Image: Sports Medicine     50     4.47     223.5       Image: Sports Medicine     10     5.28     52.8       Image: Sports Medicine     50     5.28     52.8       Image: Sports Medicine     50     6.9     6.9       Image: Sports Medicine	100 ITEM #16750 12 ply 40 1 Box 50 price is per box
BXSPORTS MEDICINE502.82141BXBXNASHVILLE MEDICAL AND EMS PRODUCTS INCORPORATED503.19159.5BXBXSCHOOL NURSE SUPPLY INC504.25212.5BXBXSCHOOL NURSE SUPPLY INC504.47223.5PAD TELFA GAUZE, 3"X4", INDIVIDUALLY WRAPPED, STERILE, 100/BXYBXNASHVILLE MEDICAL AND EMS PRODUCTS INCORPORATED104.9920STERILE, 100/BXYBXPATTERSON MEDICAL SUPPLY INCORPORATED DBA MEDCO SPORTS MEDICINE105.2852.8BXBXMOORE MEDICAL CORP106.6966.966.9BXMOORE MEDICAL WHOLESALE INC106.9869.8BXSCHOOL NURSE SUPPLY INC108.2582.5	100 ITEM #16750 12 ply 40 1 Box 50 price is per box
BX     PRODUCTS INCORPORATED     50     3.19     159.5       BX     SCHOOL NURSE SUPPLY INC     50     4.25     212.5       BX     SCHOOL NURSE SUPPLY INC     50     4.47     223.5       PAD TELFA GAUZE, 3"X4", INDIVIDUALLY WRAPPED, STERILE, 100/BX     Y     BX     NASHVILLE MEDICAL AND EMS PRODUCTS INCORPORATED     10     4.99     49.9       20     STERILE, 100/BX     Y     BX     NASHVILLE MEDICAL SUPPLY INCORPORATED     10     5.28     52.8       20     STERILE, 100/BX     Y     BX     PATTERSON MEDICAL SUPPLY INCORPORATED     10     5.28     52.8       20     STERILE, 100/BX     Y     BX     MASHVILLE MEDICAL CORPORATED     10     5.28     52.8       20     BX     MOORE MEDICAL CORP     10     6.69     66.9       20     BX     MOORE MEDICAL CORP     10     6.98     69.8       20     BX     MEDICAL WHOLESALE INC     10     6.98     69.8	ITEM #16750 12 ply 40 1 Box 50 price is per box
BX     PRODUCTS INCORPORATED     50     3.19     159.5       BX     SCHOOL NURSE SUPPLY INC     50     4.25     212.5       BX     SCHOOL NURSE SUPPLY INC     50     4.47     223.5       PAD TELFA GAUZE, 3"X4", INDIVIDUALLY WRAPPED, STERILE, 100/BX     Y     BX     NASHVILLE MEDICAL AND EMS PRODUCTS INCORPORATED     10     4.99     49.9       20     STERILE, 100/BX     Y     BX     NASHVILLE MEDICAL SUPPLY INCORPORATED     10     5.28     52.8       20     STERILE, 100/BX     Y     BX     PATTERSON MEDICAL SUPPLY INCORPORATED     10     5.28     52.8       20     STERILE, 100/BX     Y     BX     MASHVILLE MEDICAL CORPORATED     10     5.28     52.8       20     BX     MOORE MEDICAL CORP     10     6.69     66.9       20     BX     MOORE MEDICAL CORP     10     6.98     69.8       20     BX     MEDICAL WHOLESALE INC     10     6.98     69.8	ITEM #16750 12 ply 40 1 Box 50 price is per box
PAD TELFA GAUZE, 3"X4", INDIVIDUALLY WRAPPED, 20       Y       BX       HENRY SCHEIN       50       4.47       223.5         PAD TELFA GAUZE, 3"X4", INDIVIDUALLY WRAPPED, STERILE, 100/BX       Y       BX       NASHVILLE MEDICAL AND EMS PRODUCTS INCORPORATED       10       4.99       49.9         PATTERSON MEDICAL SUPPLY INCORPORATED DBA MEDCO BX       PATTERSON MEDICAL SUPPLY INCORPORATED DBA MEDCO       10       5.28       52.8         BX       MOORE MEDICAL CORP       10       6.69       66.9         BX       MOORE MEDICAL WHOLESALE INC       10       6.98       69.8         BX       MEDICAL WHOLESALE INC       10       8.25       82.5	#16750 12 ply 40 1 Box 50 price is per box
PAD TELFA GAUZE, 3"X4", INDIVIDUALLY WRAPPED, 20       Y       BX       HENRY SCHEIN       50       4.47       223.5         PAD TELFA GAUZE, 3"X4", INDIVIDUALLY WRAPPED, STERILE, 100/BX       Y       BX       NASHVILLE MEDICAL AND EMS PRODUCTS INCORPORATED       10       4.99       49.9         PATTERSON MEDICAL SUPPLY INCORPORATED DBA MEDCO BX       PATTERSON MEDICAL SUPPLY INCORPORATED DBA MEDCO       10       5.28       52.8         BX       MOORE MEDICAL CORP       10       6.69       66.9         BX       MOORE MEDICAL WHOLESALE INC       10       6.98       69.8         BX       MEDICAL WHOLESALE INC       10       8.25       82.5	#16750 12 ply 40 1 Box 50 price is per box
PAD TELFA GAUZE, 3"X4", INDIVIDUALLY WRAPPED, 20       Y       BX       HENRY SCHEIN       50       4.47       223.5         PAD TELFA GAUZE, 3"X4", INDIVIDUALLY WRAPPED, STERILE, 100/BX       Y       BX       NASHVILLE MEDICAL AND EMS PRODUCTS INCORPORATED       10       4.99       49.9         PATTERSON MEDICAL SUPPLY INCORPORATED DBA MEDCO BX       PATTERSON MEDICAL SUPPLY INCORPORATED DBA MEDCO       10       5.28       52.8         BX       MOORE MEDICAL CORP       10       6.69       66.9         BX       MOORE MEDICAL WHOLESALE INC       10       6.98       69.8         BX       MEDICAL WHOLESALE INC       10       8.25       82.5	12 ply 40 1 Box 50 price is per box
20       PAD TELFA GAUZE, 3"X4", INDIVIDUALLY WRAPPED, STERILE, 100/BX       y       BX       NASHVILLE MEDICAL AND EMS PRODUCTS INCORPORATED       10       4.99       49.9         20       STERILE, 100/BX       y       BX       PATTERSON MEDICAL SUPPLY INCORPORATED DBA MEDCO BX       10       5.28       52.8         20       BX       MOORE MEDICAL CORP       10       6.69       66.9         20       BX       MOORE MEDICAL CORP       10       6.98       69.8         20       BX       MEDICAL WHOLESALE INC       10       6.98       69.8	40 1 Box 50 price is per box
20       PAD TELFA GAUZE, 3"X4", INDIVIDUALLY WRAPPED, STERILE, 100/BX       y       BX       NASHVILLE MEDICAL AND EMS PRODUCTS INCORPORATED       10       4.99       49.9         20       STERILE, 100/BX       y       BX       PATTERSON MEDICAL SUPPLY INCORPORATED DBA MEDCO BX       10       5.28       52.8         20       BX       MOORE MEDICAL CORP       10       6.69       66.9         20       BX       MOORE MEDICAL CORP       10       6.98       69.8         20       BX       MEDICAL WHOLESALE INC       10       6.98       69.8	40 1 Box 50 price is per box
INDIVIDUALLY WRAPPED, STERILE, 100/BX       Y       BX       NASHVILLE MEDICAL AND EMS PRODUCTS INCORPORATED       10       4.99       49.9         20       STERILE, 100/BX       Y       BX       PRODUCTS INCORPORATED       10       4.99       49.9         20       STERILE, 100/BX       Y       BX       PRODUCTS INCORPORATED       10       4.99       49.9         20       STERILE, 100/BX       Y       BX       PATTERSON MEDICAL SUPPLY INCORPORATED DBA MEDCO BX       10       5.28       52.8         20       BX       MOORE MEDICAL CORP       10       6.69       66.9         20       BX       MOORE MEDICAL CORP       10       6.98       69.8         20       BX       MEDICAL WHOLESALE INC       10       6.98       69.8         20       BX       SCHOOL NURSE SUPPLY INC       10       8.25       82.5	1 Box 50 price is per box
Image: Second state of the second s	1 Box 50 price is per box
Image: Second	Box 50 price is per box
BX         SPORTS MEDICINE         10         5.28         52.8           BX         MOORE MEDICAL CORP         10         6.69         66.9           BX         MOORE MEDICAL CORP         10         6.69         66.9           BX         MEDICAL WHOLESALE INC         10         6.98         69.8           BX         BX         MEDICAL WHOLESALE INC         10         8.25         82.5	Box 50 price is per box
BX         MEDICAL WHOLESALE INC         10         6.98         69.8           BX         SCHOOL NURSE SUPPLY INC         10         8.25         82.5	price is per box
BX         MEDICAL WHOLESALE INC         10         6.98         69.8           BX         SCHOOL NURSE SUPPLY INC         10         8.25         82.5	price is per box
BX SCHOOL NURSE SUPPLY INC 10 8.25 82.5	per box
BX SCHOOL NURSE SUPPLY INC 10 8.25 82.5	
BX SCHOOL NURSE SUPPLY INC 10 8.25 82.5	
	ITEM
BX HENRY SCHEIN 10 12.66 126.6	#8360
BX  HENRY SCHEIN   10   12.66   126.6	
PAD GAUZE, STERILE, MEDIUM, 12 PLY, 3"X3", INDIVIDUALLY NASHVILLE MEDICAL AND EMS	
21 WRAPPED, STERILE, 100/BX Y BX PRODUCTS INCORPORATED 10 2.65 26.5	26.5
BX         HENRY SCHEIN         10         2.78         27.8	
PATTERSON MEDICAL SUPPLY INCORPORATED DBA MEDCO	
BX SPORTS MEDICINE 10 3.32 33.2	1
BX MOORE MEDICAL CORP 10 3.93 39.3	Box 100
BX SCHOOL NURSE SUPPLY INC 10 4.69 46.9	ITEM #16910
	#10910
GERMICIDAL WIPES DISPOSABLE,	
22 6"X6.75", 160/BX Y BX HENRY SCHEIN 1000 5.36 5360	
BX MOORE MEDICAL CORP 1000 5.62 5620	<u> </u>
PATTERSON MEDICAL SUPPLY INCORPORATED DBA MEDCO	
BX SPORTS MEDICINE 1000 5.66 5660	1
NASHVILLE MEDICAL AND EMS	
BX PRODUCTS INCORPORATED 1000 6.29 6290	100
BX SCHOOL NURSE SUPPLY INC 1000 6.59 6590	ITEM #16241
	CASCADE
	DECOR TISSUES
23     TISSUE KLEENEX, 100/BOX, 2 PLY     Y     BX     PRODUCTS INCORPORATED     3000     0.89     2670	SAME AS

	/ MIX	Baasan	11014	Cupalian	041	Drice	Extended	Mim	Nete
Item Description	/ N)	Reason	UOM	Supplier	Qty	Price	Price	Min	Note
			BA		3000	0.04	2820		
			DA		3000	0.94	2020		
			BX	HENRY SCHEIN	3000	1.04	3120		
	<u> </u>	ł		PATTERSON MEDICAL SUPPLY			0.20		<u> </u>
			вх	INCORPORATED DBA MEDCO	3000	1.32	3960	1	
	<u> </u>	ł				1.52			ITEM #23020-
									125/ box
		}	BX	SCHOOL NURSE SUPPLY INC	3000	1.33	3990		Kleenex
LYSOL SPRAY, INSTITUTIONAL 19 OZ ONLY. FRAGRANCE FREE OR				NASHVILLE MEDICAL AND FMS					Lysol 19 oz professiona
CLEAN SCENT ONLY	Y		CN		1400	5.89	8246	100	l crisp liner
									Original
			CN		1400	6.18	8652		Spray
				PATTERSON MEDICAL SUPPLY					
			CN	SPORTS MEDICINE	1400	6.58	9212	1	··· <b>_</b> ···
									#18385- Crisp
			CN	SCHOOL NURSE SUPPLY INC	1400	7.05	9870		Linen
			CN		1400	11.46	16044		
				PATTERSON MEDICAL SUPPLY INCORPORATED DBA MEDCO					banana boat 8oz,
ALOE VERA GEL-PUMP, 8 OZ	Y		EA		10	3.49	34.9	1	NO PUMP
			EA	HENRY SCHEIN	10	4.87	48.7		
				NASHVILLE MEDICAL AND EMS					
			EA		10	6.99	69.9	50	
				INCORPORATED DBA MEDCO					
MENTHOLATUM, 1 OZ JAR		NB	ΤU	SPORTS MEDICINE	50	1E-05	0.0005	1	no bid
				NASHVILLE MEDICAL AND EMS					
		NO AWARD	TU	PRODUCTS INCORPORATED	50	4.99	249.5	100	
HAND CLEANER, 16.9 0Z, Hand									
Pump, 3M AVAGUARD OR EQUAL	Y	-	CN		50	8.05	402.5		16 ounce
				INCORPORATED DBA MEDCO					
			CN	SPORTS MEDICINE	50	8.64	432	1	
			~	NASHVILLE MEDICAL AND EMS		00.00	4 400 -		
			CN		50	29.99	1499.5	100	
		ND		INCORPORATED DBA MEDCO		45.05	0.0000		na 1:1-1
SALT, T LE TU UZ BUX		INR	BX	SFUK 13 MEDICINE	20	1E-05	0.0002		no bid
			PV	NASHVILLE MEDICAL AND EMS	20	16.00	220.0	400	
		NU AWARD	BX		20	16.99	<b>339.</b> 8	100	
	v		ρv		10	17	17		Box 25
TAD-OUNDICAL, O AS , 20/BA	Ŷ		DX			1./			DUX 20
			DV	NASHVILLE MEDICAL AND EMS	10	1 70	17.0	17.0	
		1	BX		10	1.79	17.9	17.9	
			PV	INCORPORATED DBA MEDCO	10	244	24.4		25/bev
1			••*	SPORTS MEDICINE	10	2.11	21.1	1	25/box
		1	1						
	OZ ONLY, FRAGRANCE FREE OR CLEAN SCENT ONLY ALOE VERA GEL-PUMP, 8 OZ MENTHOLATUM, 1 OZ JAR HAND CLEANER, 16.9 0Z, Hand	OZ ONLY, FRAGRANCE FREE OR CLEAN SCENT ONLY Y Y ALOE VERA GEL-PUMP, 8 OZ Y MENTHOLATUM, 1 OZ JAR HAND CLEANER, 16.9 0Z, Hand Pump, 3M AVAGUARD OR EQUAL Y SALT , 1 LB 10 OZ BOX	OZ ONLY, FRAGRANCE FREE OR CLEAN SCENT ONLY Y Y SALT, 1 LB 10 OZ BOX NO AWARD NO AWARD NO AWARD	Image: Second system     Image: Second system <td>BX     BX     HENRY SCHEIN       BX     PATTERSON MEDICAL SUPPLY INCORPORATED DBA MEDCO BX     SCHOOL NURSE SUPPLY INC       LYSOL SPRAY, INSTITUTIONAL 19 OZ ONLY, FRAGRANCE FREE OR CLEAN SCENT ONLY     Y     ON       ALSE VILLE MEDICAL AND EMS PRODUCTS INCORPORATED     NASHVILLE MEDICAL AND EMS PRODUCTS INCORPORATED       CN     MOORE MEDICAL CORP       PATTERSON MEDICAL SUPPLY INCORPORATED DBA MEDCO ON SPORTS MEDICAL SUPPLY INCORPORATED DBA MEDCO SPORTS MEDICAL SUPPLY INCORPORATED DBA MEDCAL SUPPLY INCORPORATED DBA MEDCAL SUPPLY INCORPORATED DBA MEDCO SPORTS MEDICAL SUPPLY INCORPORATED DBA MEDCAL SUPPLY INCORPORAT</td> <td>BX     HENRY SCHEIN     3000       PATTERSON MEDICAL SUPPLY INCORPORATED DBA MEDCO BX     3000       LVSOL SPRAY, INSTITUTIONAL 19 02 ONLY, FRAGRANCE FREE OR CLEAN SCENT ONLY     SCHOOL NURSE SUPPLY INC     3000       LVSOL SPRAY, INSTITUTIONAL 19 02 ONLY, FRAGRANCE FREE OR CLEAN SCENT ONLY     Y     NASHVILLE MEDICAL SUPPLY INCORPORATED DBA MEDCO CN     1400       PATTERSON MEDICAL CORP     1400       PATTERSON MEDICAL SUPPLY INCORPORATED DBA MEDCO CN     1400       PATTERSON MEDICAL SUPPLY INCORPORATED DBA MEDCO CN     1400       CN     SCHOOL NURSE SUPPLY INC     1400       ALOE VERA GEL-PUMP, 8 0Z     Y     EA       HENRY SCHEIN     10     10       ALOE VERA GEL-PUMP, 8 0Z     Y     EA       HENRY SCHEIN     10     10       MENTHOLATUM, 1 0Z JAR     NS     TU       NO AWARD     TU     SPORTS MEDICAL SUPPLY INCORPORATED DBA MEDCO SO     50       MADU CLEANER, 16.9 0Z, Hand PUMP, 3M AVAGUARD OR EQUAL     Y     CN       NO AWARD     NS     SPORTS MEDICAL SUPPLY INCORPORATED DBA MEDCO</td> <td>ALOE         EX         HERRY SCHEIN         3000         1.04           PATTERSON MEDICAL SUPPLY INCORPORATED DA MEDICO BX         SPORTS MEDICINE         3000         1.32           LYSOL SPRAY, INSTITUTIONAL 19 02 ONLY, FRAGRANCE FREE OR CLEAN SCENT ONLY         Y         ON         NASHVILLE MEDICAL AND EMS PATTERSON MEDICAL SUPPLY INC         5.89           LYSOL SPRAY, INSTITUTIONAL 19 02 ONLY, FRAGRANCE FREE OR CLEAN SCENT ONLY         Y         ON         NOORE MEDICAL CORP         1400         6.18           OC N         PATTERSON MEDICAL SUPPLY INC         NOORE MEDICAL SUPPLY INC         1400         6.18           OC N         SCHOOL NURSE SUPPLY INC         1400         6.18           OC N         SCHOOL NURSE SUPPLY INC         1400         7.05           OC N         SCHOOL NURSE SUPPLY INC         1400         7.05           ALOE VERA GEL-PUMP, 8 02         Y         EA         HENRY SCHEIN         100         1.46           MOORE MEDICALS         PATTERSON MEDICAL SUPPLY INCORPORATED DBA MEDCO SPORTS MEDICINE         10         4.87           ALOE VERA GEL-PUMP, 8 02         Y         EA         HENRY SCHEIN         10         4.87           MOORE MEDICAL SUPPLY INCORPORATED DBA MEDCO SO         SONTS MEDICINE         50         16.99           MAND LE VERA GEL-PUMP, 8</td> <td>BR         HERY SCHEIN         3000         1.04         3120           PATTERSON MEDICAL SUPPLY INCORPORATED DBA MEDICAL BX         SPORTS MEDICINE         3000         1.32         3950           LYSOL SPRAY, INSTITUTIONAL 19 CONIX, FRAGRANCE FREE OR CLEAN SCENT ONLY         Y         CN         NASHVILLE MEDICAL CORP         1400         5.59         8246           LYSOL SPRAY, INSTITUTIONAL 19 CONIX, FRAGRANCE FREE OR CLEAN SCENT ONLY         Y         CN         NASHVILLE MEDICAL CORP         1400         6.18         8652           V         CN         MOORE MEDICAL SUPPLY INCORPORATED DBA MEDICAL CON SCHOOL NURSE SUPPLY INC         1400         6.58         9212           CN         MOORE MEDICAL SUPPLY INCORPORATED DBA MEDICAL SUPPLY INCORPORATED DBA MEDICAL CON SCHOOL NURSE SUPPLY INC         1400         7.65         9870           ALOE VERA GEL-PUMP, 8 OZ         Y         EA         SPORTS MEDICAL SPORTS MEDICAL SUPPLY INC         1400         7.65         9870           ALOE VERA GEL-PUMP, 8 OZ         Y         EA         HENRY SCHEIN         1400         7.65         9870           ALOE VERA GEL-PUMP, 8 OZ         Y         EA         HENRY SCHEIN         10         4.87         48.7           MENTHOLATUM, 1 OZ JAR         NB         TATERSON MEDICAL AND EMS NO AWARD         TU SPORTS MEDICAL AND EMS NO</td> <td>BX         HENRY SCHEIN         3000         1.04         3120           IV         PATTERSON MEDICAL SUPPLY INCORPORATED DBA MEDICA SX SPORTS MEDICAL SUPPLY INC         3000         1.32         3960         1           IVSOL SPRAY, INSTITUTIONAL 19 CONVERSE SCHOOL NURSE SUPPLY INC         3000         1.33         3990         100           IVSOL SPRAY, INSTITUTIONAL 19 CONVERSE SCHOOL NURSE SUPPLY INC         3000         1.33         3990         100           IVSOL SPRAY, INSTITUTIONAL 19 CONVERSE SCHOOL NURSE SUPPLY INC         400         6.19         8652         100           IVSOL SPRAY, INSTITUTIONAL 19 CONVERSE SCHOOL NURSE SUPPLY INC         400         6.58         9212         1           IVSOL SPRAY, INSTITUTIONAL 19 CONVERSE SUPPLY INC         400         6.58         9212         1           IVSOL SPRAY, INSTITUTIONAL 19 CONVERSE SUPPLY INC         400         6.58         9212         1           IVSOL SPRAY, INSTITUTIONAL 19 CONVERSE SUPPLY INC         400         6.58         9212         1           IVSOL SPRAY, INSTITUTIONAL 19 CONVERSE SUPPLY INC         1400         11.46         16044           IVSOL SPRAY, INSTITUTIONAL 19 CONVERSE SUPPLY INC         1400         1.46         16044           IVSOL SPRAY, INSTITUTIONAL 19 CONVERSE SUPPLY INC         1400         1.46         1</td>	BX     BX     HENRY SCHEIN       BX     PATTERSON MEDICAL SUPPLY INCORPORATED DBA MEDCO BX     SCHOOL NURSE SUPPLY INC       LYSOL SPRAY, INSTITUTIONAL 19 OZ ONLY, FRAGRANCE FREE OR CLEAN SCENT ONLY     Y     ON       ALSE VILLE MEDICAL AND EMS PRODUCTS INCORPORATED     NASHVILLE MEDICAL AND EMS PRODUCTS INCORPORATED       CN     MOORE MEDICAL CORP       PATTERSON MEDICAL SUPPLY INCORPORATED DBA MEDCO ON SPORTS MEDICAL SUPPLY INCORPORATED DBA MEDCO SPORTS MEDICAL SUPPLY INCORPORATED DBA MEDCAL SUPPLY INCORPORATED DBA MEDCAL SUPPLY INCORPORATED DBA MEDCO SPORTS MEDICAL SUPPLY INCORPORATED DBA MEDCAL SUPPLY INCORPORAT	BX     HENRY SCHEIN     3000       PATTERSON MEDICAL SUPPLY INCORPORATED DBA MEDCO BX     3000       LVSOL SPRAY, INSTITUTIONAL 19 02 ONLY, FRAGRANCE FREE OR CLEAN SCENT ONLY     SCHOOL NURSE SUPPLY INC     3000       LVSOL SPRAY, INSTITUTIONAL 19 02 ONLY, FRAGRANCE FREE OR CLEAN SCENT ONLY     Y     NASHVILLE MEDICAL SUPPLY INCORPORATED DBA MEDCO CN     1400       PATTERSON MEDICAL CORP     1400       PATTERSON MEDICAL SUPPLY INCORPORATED DBA MEDCO CN     1400       PATTERSON MEDICAL SUPPLY INCORPORATED DBA MEDCO CN     1400       CN     SCHOOL NURSE SUPPLY INC     1400       ALOE VERA GEL-PUMP, 8 0Z     Y     EA       HENRY SCHEIN     10     10       ALOE VERA GEL-PUMP, 8 0Z     Y     EA       HENRY SCHEIN     10     10       MENTHOLATUM, 1 0Z JAR     NS     TU       NO AWARD     TU     SPORTS MEDICAL SUPPLY INCORPORATED DBA MEDCO SO     50       MADU CLEANER, 16.9 0Z, Hand PUMP, 3M AVAGUARD OR EQUAL     Y     CN       NO AWARD     NS     SPORTS MEDICAL SUPPLY INCORPORATED DBA MEDCO	ALOE         EX         HERRY SCHEIN         3000         1.04           PATTERSON MEDICAL SUPPLY INCORPORATED DA MEDICO BX         SPORTS MEDICINE         3000         1.32           LYSOL SPRAY, INSTITUTIONAL 19 02 ONLY, FRAGRANCE FREE OR CLEAN SCENT ONLY         Y         ON         NASHVILLE MEDICAL AND EMS PATTERSON MEDICAL SUPPLY INC         5.89           LYSOL SPRAY, INSTITUTIONAL 19 02 ONLY, FRAGRANCE FREE OR CLEAN SCENT ONLY         Y         ON         NOORE MEDICAL CORP         1400         6.18           OC N         PATTERSON MEDICAL SUPPLY INC         NOORE MEDICAL SUPPLY INC         1400         6.18           OC N         SCHOOL NURSE SUPPLY INC         1400         6.18           OC N         SCHOOL NURSE SUPPLY INC         1400         7.05           OC N         SCHOOL NURSE SUPPLY INC         1400         7.05           ALOE VERA GEL-PUMP, 8 02         Y         EA         HENRY SCHEIN         100         1.46           MOORE MEDICALS         PATTERSON MEDICAL SUPPLY INCORPORATED DBA MEDCO SPORTS MEDICINE         10         4.87           ALOE VERA GEL-PUMP, 8 02         Y         EA         HENRY SCHEIN         10         4.87           MOORE MEDICAL SUPPLY INCORPORATED DBA MEDCO SO         SONTS MEDICINE         50         16.99           MAND LE VERA GEL-PUMP, 8	BR         HERY SCHEIN         3000         1.04         3120           PATTERSON MEDICAL SUPPLY INCORPORATED DBA MEDICAL BX         SPORTS MEDICINE         3000         1.32         3950           LYSOL SPRAY, INSTITUTIONAL 19 CONIX, FRAGRANCE FREE OR CLEAN SCENT ONLY         Y         CN         NASHVILLE MEDICAL CORP         1400         5.59         8246           LYSOL SPRAY, INSTITUTIONAL 19 CONIX, FRAGRANCE FREE OR CLEAN SCENT ONLY         Y         CN         NASHVILLE MEDICAL CORP         1400         6.18         8652           V         CN         MOORE MEDICAL SUPPLY INCORPORATED DBA MEDICAL CON SCHOOL NURSE SUPPLY INC         1400         6.58         9212           CN         MOORE MEDICAL SUPPLY INCORPORATED DBA MEDICAL SUPPLY INCORPORATED DBA MEDICAL CON SCHOOL NURSE SUPPLY INC         1400         7.65         9870           ALOE VERA GEL-PUMP, 8 OZ         Y         EA         SPORTS MEDICAL SPORTS MEDICAL SUPPLY INC         1400         7.65         9870           ALOE VERA GEL-PUMP, 8 OZ         Y         EA         HENRY SCHEIN         1400         7.65         9870           ALOE VERA GEL-PUMP, 8 OZ         Y         EA         HENRY SCHEIN         10         4.87         48.7           MENTHOLATUM, 1 OZ JAR         NB         TATERSON MEDICAL AND EMS NO AWARD         TU SPORTS MEDICAL AND EMS NO	BX         HENRY SCHEIN         3000         1.04         3120           IV         PATTERSON MEDICAL SUPPLY INCORPORATED DBA MEDICA SX SPORTS MEDICAL SUPPLY INC         3000         1.32         3960         1           IVSOL SPRAY, INSTITUTIONAL 19 CONVERSE SCHOOL NURSE SUPPLY INC         3000         1.33         3990         100           IVSOL SPRAY, INSTITUTIONAL 19 CONVERSE SCHOOL NURSE SUPPLY INC         3000         1.33         3990         100           IVSOL SPRAY, INSTITUTIONAL 19 CONVERSE SCHOOL NURSE SUPPLY INC         400         6.19         8652         100           IVSOL SPRAY, INSTITUTIONAL 19 CONVERSE SCHOOL NURSE SUPPLY INC         400         6.58         9212         1           IVSOL SPRAY, INSTITUTIONAL 19 CONVERSE SUPPLY INC         400         6.58         9212         1           IVSOL SPRAY, INSTITUTIONAL 19 CONVERSE SUPPLY INC         400         6.58         9212         1           IVSOL SPRAY, INSTITUTIONAL 19 CONVERSE SUPPLY INC         400         6.58         9212         1           IVSOL SPRAY, INSTITUTIONAL 19 CONVERSE SUPPLY INC         1400         11.46         16044           IVSOL SPRAY, INSTITUTIONAL 19 CONVERSE SUPPLY INC         1400         1.46         16044           IVSOL SPRAY, INSTITUTIONAL 19 CONVERSE SUPPLY INC         1400         1.46         1

Line#	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price	Min	Note
LINC#		/ N)	Reason	001	Supplier	QLY	FILCE	FILE	WIIII	Note
										price is
				BX	MEDICAL WHOLESALE INC	10	3.39	33.9		per box
										ITEM
				BX	SCHOOL NURSE SUPPLY INC	10	3.99	39.9		#16945
	TAPE CLOTH, HYPOALLERGENIC SILK, 1"X 10YDS, BILATERAL				NASHVILLE MEDICAL AND EMS					
30	TEARING	Y		RL	PRODUCTS INCORPORATED	50	0.58	29	25	
					PATTERSON MEDICAL SUPPLY					sold/price
				RL	INCORPORATED DBA MEDCO SPORTS MEDICINE	50	8.91	445.5	12	per box 1 only
				RL	MOORE MEDICAL CORP	50	9.22	461		Box 12 / Not Each
				RL.	PATTERSON MEDICAL SUPPLY	50	9.22	401		NOL EACH
					INCORPORATED DBA MEDCO					
31	TAPE, DERMICEL, 1/2"X5YD		NB	RL	SPORTS MEDICINE	10	1E-05	0.0001	1	no bid KENTRON
					NASHVILLE MEDICAL AND EMS					SILK TAPE
		Y		RL	PRODUCTS INCORPORATED	10	0.3	3	3	1/2" X 10 YARDS
	SURE TEMP PROBE COVER									
32	ELECTRONIC THERMOMETER, 250/BX	Y		PY	NASHVILLE MEDICAL AND EMS PRODUCTS INCORPORATED	300	8.19	2457	100	
32			ł	Бл		300	0.19	2457	100	
				BX	HENRY SCHEIN	300	8.49	2547		
				вх	MOORE MEDICAL CORP	300	8.73	2619		Box 250
				вх	SCHOOL NURSE SUPPLY INC	300	9.15	2745		ITEM #12515
										price is
										per box of
				BX	MEDICAL WHOLESALE INC	300	9.45	2835		250
					PATTERSON MEDICAL SUPPLY INCORPORATED DBA MEDCO					
				вх	SPORTS MEDICINE	300	10.25	3075	1	
					NASHVILLE MEDICAL AND EMS					
33	TONGUE DEPRESSOR, JUNIOR, NON-STERILE, 500/BX	Y		вх	PRODUCTS INCORPORATED	30	3.25	97.5	100	
					PATTERSON MEDICAL SUPPLY					
				вх	INCORPORATED DBA MEDCO SPORTS MEDICINE	30	3.52	105.6	1	
				57		50	3.32	103.0		
				_						
				BX	MOORE MEDICAL CORP	30	3.8	114		Box 500
										price is per box o
				вх	MEDICAL WHOLESALE INC	30	3.92	117.6		500
				вх	SCHOOL NURSE SUPPLY INC	30	4.79	143.7		ITEM #14510
				PV	HENRY SCHEIN	30	5.19	155.7		
		ł	ł	Бл			J.19	100.7		-
	VASELINE PETROLEUM JELLY, 3									price is
34	1/4 OZ, TUBE ONLY		4MO	ΤU	MEDICAL WHOLESALE INC	100	0.81	81		per tube
					NASHVILLE MEDICAL AND EMS					
		Y		τu	PRODUCTS INCORPORATED	100	0.93	93	50	
										3.25
				ти	MOORE MEDICAL CORP	100	0.99	99		Ounce Tube
		1	1	1.0			5.00			
	ļ	ļ		TU	HENRY SCHEIN	100	1.02	102	ļ	L

	Here Description	Award (Y			0 martine	<b>a</b> .		Extended		Nete
Line#	Item Description	/ N)	Reason	UOM	Supplier PATTERSON MEDICAL SUPPLY	Qty	Price	Price	Min	Note
					INCORPORATED DBA MEDCO					
				TU	SPORTS MEDICINE	100	1.03	103	1	
										ITEM
				τu	SCHOOL NURSE SUPPLY INC	100	1.49	149		#18672
35	EYE SOLUTION, MULTI-USE, RE- SEALABLE, 4 OZ	Y		вт	HENRY SCHEIN	250	1.41	352.5		
				вт	NASHVILLE MEDICAL AND EMS PRODUCTS INCORPORATED	250	1.89	472.5	100	
				ы	PRODUCTSINCORPORATED	230	1.09	472.5	100	
										ITEM
				BT	SCHOOL NURSE SUPPLY INC	250	2.2	550		#18275
				BT	MOORE MEDICAL CORP	250	3.72	930		4 Ounce
					PATTERSON MEDICAL SUPPLY					
				вт	INCORPORATED DBA MEDCO SPORTS MEDICINE	250	3.82	955	1	
	SPLINT, 12" DISPOSABLE,									
	CUSHIONED W/FOAM, MORRISON MEDICAL PRODUCTS #3018 OR				PATTERSON MEDICAL SUPPLY INCORPORATED DBA MEDCO					
36	EQUAL	Y		EA	SPORTS MEDICINE	20	1.33	26.6	1	
				EA	SCHOOL NURSE SUPPLY INC	20	1.9	38		ITEM #26005
					NASHVILLE MEDICAL AND EMS					
	SPLINT, 18" DISPOSABLE,			EA	PRODUCTS INCORPORATED	20	3	60	50	
	CUSHIONED W/FOAM, MORRISON				PATTERSON MEDICAL SUPPLY					
37	MEDICAL PRODUCTS #3019 OR EQUAL	Y		E۸	INCORPORATED DBA MEDCO SPORTS MEDICINE	10	1.6	16	1	
31	EQUAL	T		EA	SPORTS MEDICINE	10	1.0	10		
										ITEM
				EA	SCHOOL NURSE SUPPLY INC	10	2.44	24.4		#26010
					NASHVILLE MEDICAL AND EMS					
				EA	PRODUCTS INCORPORATED	10	4	40	40	
	GLOVES, MED, NON-STERILE, SURGICAL TYPE, VINYL, EXAM									
	PRE-POWDERED, NON-LATEX,									Vinyl
38	100/BX	Y		BX	MOORE MEDICAL CORP	700	2.5	1750		Gloves
					PATTERSON MEDICAL SUPPLY INCORPORATED DBA MEDCO					
				вх	SPORTS MEDICINE	700	2.57	1799	1	
				RY	UNIPAK CORP	700	2.65	1855		
				Бл		100	2.03	1000		
					NASHVILLE MEDICAL AND EMS					
				BX	PRODUCTS INCORPORATED	700	3.45	2415	100	
				вх	HENRY SCHEIN	700	3.53	2471		
				вх	SCHOOL NURSE SUPPLY INC	700	3.99	2793		ITEM #22082
	GLOVES, LRG, NON-STERILE,						0.00			
	SURGICAL TYPE, VINYL, EXAM									Vinul
39	PRE-POWDERED, NON-LATEX, 100/BX	Y		вх	MOORE MEDICAL CORP	900	2.5	2250		Vinyl Gloves
					PATTERSON MEDICAL SUPPLY					
					INCORPORATED DBA MEDCO					
				вх	SPORTS MEDICINE	900	2.57	2313	1	
				вх	UNIPAK CORP	900	2.65	2385		

1 := 0#	Itom Description	Award (Y	Baasan	uow	Cumpling	0.5%	Drice	Extended	Min	Nata
Line#	Item Description	/ N)	Reason	UOM		Qty	Price	Price	Min	Note
				вх	NASHVILLE MEDICAL AND EMS PRODUCTS INCORPORATED	900	3.45	3105	100	
				вх	HENRY SCHEIN	900	3.53	3177		
				БY				0504		ITEM
	GLOVES, SMALL, NON-STERILE,			вх	SCHOOL NURSE SUPPLY INC	900	3.99	3591		#22083
40	SURGICAL TYPE, VINYL, EXAM PRE-POWDERED, NON-LATEX, 100/BX	Y		вх	MOORE MEDICAL CORP	100	2.5	250		Vinyl Gloves
				вх	PATTERSON MEDICAL SUPPLY INCORPORATED DBA MEDCO SPORTS MEDICINE	100	2.57	257	1	
				вх	UNIPAK CORP	100	2.65	265		
				вх	NASHVILLE MEDICAL AND EMS PRODUCTS INCORPORATED	100	3.45	345	100	
				вх	HENRY SCHEIN	100	3.53	353		
				вх	SCHOOL NURSE SUPPLY INC	100	3.99	399		ITEM #22081
41	WASHCLOTH, DISPOSABLE, EXTRA SOFT, 10"X13", SCHOOL NURSE #48010 OR EQUAL	Y		вх	PATTERSON MEDICAL SUPPLY INCORPORATED DBA MEDCO SPORTS MEDICINE	10	2.06	20.6	1	50 bx
				вх	MOORE MEDICAL CORP	10	2.38	23.8		Bag 50 / 10x13
				вх	MEDICAL WHOLESALE INC	10	2.93	29.3		price is per each package
				вх	NASHVILLE MEDICAL AND EMS PRODUCTS INCORPORATED	10	5	50	25	
				вх	HENRY SCHEIN	10	13.67	136.7		500/case
				вх	SCHOOL NURSE SUPPLY INC	10	33	330		ITEM #48010
42	CONTAINER, SYRINGE WASTE- SHARPS CONTAINER, 1GL, SCHOOL NURSE #15310 OR EQUAL	Y			NASHVILLE MEDICAL AND EMS PRODUCTS INCORPORATED	40	1.39	55.6	50	
					MOORE MEDICAL CORP	40	2.18	87.2		
					PATTERSON MEDICAL SUPPLY INCORPORATED DBA MEDCO SPORTS MEDICINE	40	2.63	105.2	1	
					SCHOOL NURSE SUPPLY INC	40	3.85	154		ITEM #39220
				EA	HENRY SCHEIN	40	6.62	264.8		
43	MASK, CLINIC, PLEATED, EAR LOOP DESIGN	Y			MOORE MEDICAL CORP	5	3.23	16.15		Box 50
				вх	NASHVILLE MEDICAL AND EMS PRODUCTS INCORPORATED	5	3.25	16.25	16.25	

		Award (Y						Extended		
Line#	Item Description	/ N)	Reason	UOM	Supplier	Qty	Price	Price	Min	Note
					PATTERSON MEDICAL SUPPLY INCORPORATED DBA MEDCO SPORTS MEDICINE	5	3.8	19	1	box 50
				вх	SCHOOL NURSE SUPPLY INC	5	3.85	19.25		ITEM #50009